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(a) Why do employees resist control in
organizations ? How can manage,ment
mike controls more acceptablf,,:-to
employees 2 ' 8
EFrr 6RuT B fu {iT6q q sffi Ertiq q
6-trq +-G t i nqq=6 h.s q-dFn s@ +
frq'ma"T d s{Ys #' qqr F#fr t ?

(b) What do vou understand by the term
"Market Value Added" ? How MVA
techniquc of control is different from EVA
technique 7 7
.,qiql-{ q.;dLa&-fr" {MVA) eld A sTIg EFII

i{qgi E': ;:r.Eror d I,IVA rq-{f+ R'g g6tt
Et'l r='it i; ;t iYq A ?

.0R
qetsl

Write notes ofi an]' three of the followin8 : 
,.a

HEeiA1€fl q '+ i"s€ {tq q{ trqffi Rfus :

(i) Return on invr:stment (ROI)

ffisl qq qfi1qfi (RoI)

(ii) Disti;rction betrveen MIS and DSS
qq' affii- cfi gia $ q€'qs q 'filt

(iii) Likert's Scale theory.
ft-qrf qir4i F=ro

(iv) Distinctioit hri-,';een Formal and Informal
. Co;n:-n'r:ir r,:a ttt;n

3+r:-.iffral 1.:':- 'r:j:TIfiE fiqrt q Siil{
E 8400
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(a) Write your Roll No. on the top immediately
on recerpt ot thrs questron paPer.

E{T c{{-q{ $ clq A+ qr g{fi rfui q( srqql
tfs .tq< Frd r

{bt AttemDt all live questions' Question l|l}' ' is matidatory for all.
rrm q'k crit ?Sr Eq str cfi l(al HSr *
Rq €[f+qni t I

1. tal New entrant Reliance Jio disrupted Indian
- Telecom sector through its aggressive

pricing and offering of free calls for lifetime
io Indian customers ' First it offered
unUmited data, calls and, SMS totally frec

P.T.O.
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on all over India basis for Z months and
after that it introduced cheapest data
plans with free voice calls and SMS that
affected market leader Airtel and existing
players like Vodafone, Idea and BSNL's
market share and revenues badly. Airtel r
responded by offering same data plans with '
free calls to its customers to retain its
market share and to counter Jio onslaught.
There are four basic strategies namely
Stability strategy, Growth strategy,
Retrenchment strates/ and Combination
strategr adopted by companies as per level
of competition and market share. 8
qrcdq ffiq +€( d T{ ca{r q.'{+ crd
qrq* Rorqir Frfr t qrcd?T qr6e61 dl €rrfr
Er+tr{ dTfr *r fti{q( * fu< h,ger
stf,l 6] rfrrfdf, q-{+ Q?E{ cl M.s rr
kqr t r qE+ A {si qsfq( srdr qft +(
lKR'qw d E+o, dq,t vrro I <ro qru *
fu< fr:gm ?r( Rcr qr .*( SFr+ crc Tsq t
5w {Ee q+d .+( ssqsrw srfr F{fr s€
Erer Rrr=r ry tr{+ir fuqr Fr€+ crqr( + sTqofr
qed '+r fEqqn ffi Qfr ffirc, €{ECcr
efl-< frsgq-{cd * qrqn t Rrce *r n-qq
dt gt mra sqrfuc qr kqrr qq€q t s*
srer Frrq d €{ci qrffil d gw +Ydt * qre
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Write notes on any throe of the following :

5x3tuqfrkrqtfr€frrwffiREs:
(i) Horizontal Vs Vertical Integration

fffuo q-qrq gruf gqt66q
(ii) Recruitment Vs Selection

ffi q-{q qfi
(iii) Herzberg's two factor theory of motivation

orFTlrq sr Eff-+ srm ksiil
(iv) Situational leadership theory.

Rqfr.ro tg.s keid
OR

gTEr.[T

(a) Distinguish between transactional
leadership and transformational
leadership. Which of them would you

' recommend for Indian conditions ?

.8
cqER nEE' a+R EcFr{qrffis Ttrs q qtrr
q<rqc r qr(frc sw€ff + frc siiT {iq fr
fu'qd ffirT qfrt ?

(b) What are barriers to effective
communication ? How can these barriers
be overcome ? Z
sqfi d-qn + arEtrr+' scr E ? E{ .'T{tqsl
dt*t$Bqrqr(mrt?
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(b) Write notes on following :

ffifufr qT trtqtrrd Rfuq :

(i) Span of management

*iel 6I +HrE

(ii) Delegation Vs Decentralisation

q-qrq ErfrA-s{ur

OR
qsr.[I

(a) What are the causes of emergence of
informal groups ? How should a manager
handle these groups ? 8

orffis qTfr + s{'rq + Hr s,t"r E ?

fi sqd d *{q+ d *fr +rC.{ +-rqr atBqt
(b) Write notes on following : 7

qr Eqffi frEq :

(i) Project Organisation Vs Matrix
Organisation 4

qRfi-q-{r arftett q{rq \frqfr q{en
(ii) Principles of organizing 3

aFRsflqfi + kqi-d
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q-RIF.{ fu-ql drF+ STFFT EIICIr{ I EqT S-{I

ra (+ €fur Frfr * qra+ snirrT.r sr gsrqsr
fiq+rcFrAFr* *'wt st{qtgrq q Rffi
* ergur qiqFrfr am .rr.rtr€ T{ qrr {€
Prfifdfr d .rrc{rcr ffifr: Rtr(ilt Prfifr,
Ek d r"rfiR, E-cft d {srfrft €ila tifila-qq
d rq-fifr r

(i) Which stratery Airte1 is adopting in
current scenario and why ?

+Wr cR-Eec q QH-€( fus {"r-frfd d
EFFTI {fl B o+i fl] ?

(ii) As a Marketing manager of Airtel
which strategies you would like to
adopt in future to remain market
leader in Indian telecom sector ?
iffi + hqqrc qqeF * sc d sTN

fu-{ T"r-fiRql s} qEEq fr eTq-{rcr qdl
drfr qrcfrc 26a1q 8-€r I qrcK-+ff
{qr€?

(b) What is Environmental Analysis and
Diagnosis ? Explain the main techniques
of analyzing and diagnosing the
environment. 7

qqtT<"r Rydqq *( R-ff{ €r B ? qqf-{tsl

fl Eetsq +.G str f<tq +-G * kc gq
il*-ffi fr qrq dfrq r
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OR

€Fq-.lT

Explain various types of intensive growth
strategies, pointing out their advantages 

1

and limitations.

EfYrq q6rt d .rac gk {"r+M d qrqr
dtrc etr s{+ ilYfr slR drqreil qil qcr*q r

OR
qgFII

(a) What trends do you forecast in the future
environment of business ? Describe the
challenges and tasks these trends are
likely to create for managers. '8

q+€rq * ql{ qqtT(oT { enM fu'{T n-gfu mr

K+$+tqo.{frt?ts'gk*rffir+Rc
k{ g+Rql €il{ srfr d s-icq fi sfiff B
s-ffir q.t{ frFTqr

(b) Michacl E. porter redefined the siope oi
competition through five forces analysis.
Explain this framework through supportive
example from any Indian industry/sector.

qg+d € +iT + +s {fr qr& H$esur +
qRc clM + sTfr 6r SqFftqtrET fuqr tr
{s dA fr qrqr RrS ff qmfrq E+ql+€(
t qqffi ssrE<"r aq.t +1&q I

3. (a) What is Matrix OrganLation ? In what types
of organization it is suitable ? Explain its
merits and demerits. 8

tffw €q-d-{ Rr *dr B ? R'fi c-srr +
€,rd-{ q {6 scgffi +{r B ? {s+ gfr gfl-r

+fr d qrqr qi&qr
' 5 P.T.O.

2. (al

(b)

"Management is the force which leads,
guides and directs an organization in the
accomplishment of predetermined
objectives". Discuss this statement and
give a suitable delinition of management.

,8
Ittis w'kt qq t * d'rtr{ d ern tr *
qrtq*{ fii etr ffilnq Enr EsIMR( sqtrfr
+ HEnfr q +.r +ff tr {s .nem d RaT{
dec €ilr *{s d gqgffi qRqF{r Afrq1
"Contingency approach to management is
a cornrnon sense approach". Comment. 

7

"sEiE ?E[ sl-gstFlr sqmq qrqrq gk wrrr
$ 1' ftqofi frfrq I
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